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  2 つの放物線 

22 3( cos ) siny x θ θ= − +  

22 3( cos ) siny x θ θ= − + −  

が異なる 2点で交わるような一般角θ の範囲を求めよ。 

 

 22 3( cos ) siny x θ θ= − +  …① 

 22 3( cos ) siny x θ θ= − + −  …② 

 ①，②から y を消去して  

    2 22 3( cos ) sin 2 3( cos ) sinx xθ θ θ θ− + = − + −  

  ⇔ 22 3 cos sin 0θ θ+ <  

⇔ ( )22 3 1 sin sin 0θ θ− + <  

⇔ 22 3 sin sin 2 3 0θ θ− − >  

⇔ ( )( )2sin 3 3 sin 2 0θ θ+ − >  …（＊） 

ここで， 3 sin 2 0θ − <  あるから 

(＊) ⇔ 2sin 3 0θ + <  

   ⇔ 
3sin

2
θ < −  

よって，n を整数として，求めるθ の範囲は 

4 52 2
3 3

n nπ π θ π π+ < < +  

 


